BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd.)

Office of the General Manager, Govindpur Area
P.O. Sonardih, Dist. Dhanbad

Ref. No. GM/AR-III/ACE/Tender/

1730-57

Dated 23.04.2009

SHORT TENDER NOTICE

Sealed tenders are invited from registered and experienced contractors for the following works -

SI. No.	Name of work	Estimated cost (in Rs.)		Cost of tender paper	Time of completion
1.	Construction of sub station building at Govindpur Colliery.	3,28,820.00	1%	Rs.250/-	1 month

Eligibility Criteria:-1 (a) The average annual financial turnover during the last three years ending 31st March of the previous year should be atleast 30% of the estimated cost. (b) Experience of having successfully completed similar works during last 7 (seven) years ending last day or month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following. (C) (i) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.(iii) Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.(iii) One similar completed works each costing not less than the amount equal to 80% of the estimated cost. 2) J.S.T. Clearance certificate 3) Permanent Account number of Income Tax.

The tender will be received on dated 19.05.2009 upto 3.00 p.m. in two parts and will be opened on the same day upto 3.30 p.m. in the presence of tenders or their authorised agents.

Without earnest money tender will be rejected. The tenderers are required to deposit the E.M. in the shape of demand draft or M.R. of Govindpur Area.

The bill of quantity will have to obtained from office of the undersigned on production of M.R. upto 18.05.2009.

Authority is reserved to reject any or all the tenders without assigning any reason whatsoever.

It will be obligatory for the tenders to keep their offer for a period of 120 days from the date of opening of the tender.

Sale-Tax will be deducted as per rule from the bill of the Contractor. No conditional tender paper will be accepted.

No materials will be supplied to the contractor for doing this work.

The contractor will have to abide by all labour rules of the country/state.

Area Civil Engineer, Goyindpur Area

C.C. to :-

- 1) Addl. GM, Govindpur Area.
- 2) AFM Govindpur Area.
- 3) All Project Officers, Govindpur Area.
- 4) C.G.M/G. M., Area 1 to 12, E.J. Area, W.J.Area, W.W.Z Ropeways
- 5) G.M. (Const), Koylanagar, Dhanbad
- 6) Notice Board
- Builders Association of India, 16 LIG Housing Colony Dhanbad / Near Akashkinaree Weighbridge, P.O. Katrasgarh
- 8) C.V.O, B.C.C.L. Koyla Bhawan.
- 9) General Manager (System), Koyla Bhawan, Dhanbad

Bill of Quantity for the work of "Construction of sub station building at Govindpur Colliery"

Earth work in excavation in foundation as per specification. Providing P.C.C 1:4:8 in foundation as per	M ³	Work 54.42	93.55	5090.99
A construction to the second	143	1	-	7
specification.	IVI	18.00	1324.30	23837.40
Brick works cm (1:6) in foundation & plinth as per specification.	M^3	34,32	1256.53	4312.41
Brick work in cm (1:6) in s/s as per specification.	M ³	47.52	1462.93	69518.43
RCC work in (1:2:4) as per specification lintel bend	M³	5.40	2120.65	11451.51
7.2 (1970)	M ³	0.85	2120.65	1802.55
a) Lintel	M^2	34.52	87.95	3036.03
b) Chajja	M^2	15.61	7134.45	2098.76
- AT W/ BEEN	Kg	1260.00	24.65	31059.00
	Brick works cm (1:6) in foundation & plinth as per specification. Brick work in cm (1:6) in s/s as per specification. RCC work in (1:2:4) as per specification lintel bend RCC work in (1:2:4) in chajja as per specification. Centering & shuttering including removing the same a) Lintel b) Chajja	Brick works cm (1:6) in M³ foundation & plinth as per specification. Brick work in cm (1:6) in s/s M³ as per specification. RCC work in (1:2:4) as per M³ specification lintel bend RCC work in (1:2:4) in chajja M³ as per specification. Centering & shuttering including removing the same a) Lintel M² b) Chajja M² Providing angle iron roof Kg	Brick works cm (1:6) in M³ 34.32 foundation & plinth as per specification. Brick work in cm (1:6) in s/s M³ 47.52 as per specification. RCC work in (1:2:4) as per M³ 5.40 specification lintel bend RCC work in (1:2:4) in chajja M³ 0.85 as per specification. Centering & shuttering including removing the same a) Lintel M² 34.52 b) Chajja M² 15.61 Providing angle iron roof Kg 1260.00	Brick works cm (1:6) in M³ 34.32 1256.53 foundation & plinth as per specification. Brick work in cm (1:6) in s/s M³ 47.52 1462.93 as per specification. RCC work in (1:2:4) as per M³ 5.40 2120.65 specification lintel bend RCC work in (1:2:4) in chajja M³ 0.85 2120.65 as per specification. Centering & shuttering including removing the same a) Lintel M² 34.52 87.95 b) Chajja Providing angle iron roof Kg 1260.00 24.65

Providing wind tie as per specification.	M	111.73	39.10	4368.64
including cutting, bending		600.00	21.85	13110.00
SECON ENDARCORE				EL .
Tixing, laying		116.58	279.55	32589.93
12mm thick c.p. (1:6) as per	N42	110.55		
specification.	IVI	449.55	44.00	19780.20
18mm thick c.p. (1:3) for- do-	M^2	26.11	104.00	2715,44
thick p.s. Hoofing	M^2	86.90	113.70	9880.53
	N/2	22.20		
	IVI	22.30	1609.10	35882.93
S/F/F fully glazed steel	M ²	9.30	1065.75	9911.47
S/F/F M.S. grills as per specification.	Kg	150.00	29.15	4372.50
White washing 3 coats as per	M^2	241.17	4.65	1121.44
	M^2	184.23	6.20	1142,22
	N.4.2	56.67		
	174	20.07	24.25	1374.24
				W.
	specification. Reinforcement for RCC work including cutting, bending ctc. work. Providing and fixing, laying CGI sheet roofing as per specification. 12mm thick c.p. (1:6) as per specification. 18mm thick c.p. (1:3) for- do-40mm thick p.s. flooring (1:2:4) as per specification. S/F/F collapsiable steel gate as per specification. S/F/F fully glazed steel window as per specification. S/F/F M.S. grills as per specification.	specification. Reinforcement for RCC work including cutting, bending etc. work. Providing and fixing, laying M2 CGI sheet roofing as per specification. 12mm thick c.p. (1:6) as per specification. 18mm thick c.p. (1:3) for-do- M2 40mm thick p.s. flooring M2 (1:2:4) as per specification. S/F/F collapsiable steel gate as per specification. S/F/F fully glazed steel M2 window as per specification. S/F/F M.S. grills as per Kg specification. White washing 3 coats as per M2 specification. Colour washing 3 coats as per M2 specification. S/A two coats ready mixed M2	specification. O Reinforcement for RCC work including cutting, bending ctc. work. Providing and fixing, laying CGI sheet roofing as per specification. 12mm thick c.p. (1:6) as per M² 449.55 specification. 18mm thick c.p. (1:3) for- do- M² 26.11 40mm thick p.s. flooring M² 86.90 (1:2:4) as per specification. S/F/F collapsiable steel gate as per specification. S/F/F fully glazed steel M² 9.30 window as per specification. S/F/F M.S. grills as per Kg 150.00 specification. White washing 3 coats as per M² 241.17 specification. Colour washing 3 coats as per M² 184.23 specification. S/A two coats ready mixed M² 56.67	specification. Reinforcement for RCC work including cutting, bending ctc. work. Providing and fixing, laying M2 116.58 279.55 CGI sheet roofing as per specification. 12mm thick c.p. (1:6) as per M2 449.55 44.00 specification. 18mm thick c.p. (1:3) for- do- M2 26.11 104.00 40mm thick p.s. flooring M2 86.90 113.70 (1:2:4) as per specification. S/F/F collapsiable steel gate as per specification. S/F/F fully glazed steel M2 9.30 1065.75 window as per specification. S/F/F M.S. grills as per Kg 150.00 29.15 specification. White washing 3 coats as per M2 241.17 4.65 specification. Colour washing 3 coats as per M2 184.23 6.20 specification. S/A two coats ready mixed M2 56.67 24.25

19

J.

21	Earth work in filling foundation & flooring as per specification.	M ³	40.74	30.25	1232.38.
22	Surface dressing of the ground level as per specification.	%M ²	223.04	336.85	751,31
23	P/L P.C.C. (1:2:4) as per specification.	M³	0.63	1843.00	1161.09

SI. No.	The state of the s	Unit of Qnty.	Estimated Qnty. of Work	B.C.C.L scheduled rates	Amount (in Rs.)
1	Earth work in excavation in foundation as per specification.	M ³	26.21	93.55	2451.94.
2	Brick works cm (1:6) in foundation as per specification.	M ³	21.85	1256.53	27455.18
3	12mm thick c.p. (1:6) as per specification.	M ²	51.57	44.00	2269.05
4	12mm thick c.p. (1:4) with punning as per specification.	M ²	33.45	62.10	2077.24
5	Sand course filling in foundation as per specification.	M ³	5.09	213.30	1085.69

6	P/L	P.C.C.	(1:2:4)	in	M^3	1.02	1843.00	1879.86
	paver	nent.n.						r
							Total (Rs.)	37218.99

Total Cost of Part A & Part B = Part A + Part B = 291601.40 + 37218.99 = Rs. 3,28,820.39 = Say, Rs. 3,28,820.00

Ve militial con

Note: Add _____% above/below from the estimated Cost.

Signature of the Contractor

Area Civil Engineer Goyindpur Area